
Subject: Re: TreeCtrl Scroll triggers Parent Refresh
Posted by mirek on Mon, 03 Sep 2007 18:38:56 GMT
View Forum Message <> Reply to Message

Ooops, a bug. U++ default behaviour for Display is to Clip.

Quick fix:

void TreeCtrl::Paint(Draw& w)
{
	SyncTree();
	Size sz = GetSize();
	Point org = sb;
	scroller.Set(org);
	if(!nobg)
		w.DrawRect(sz, SColorPaper);
	int levelcx2 = levelcx >> 1;
	for(int i = 0; i < line.GetCount(); i++) {
		Line& l = line[i];
		if(l.ll >= 0) {
			int yl = line[i].y + item[l.itemi].GetSize().cy - org.y;
			int yh = line[l.ll].y + item[line[l.ll].itemi].GetSize().cy / 2 - org.y;
			if(yh >= 0 && yl < sz.cy) {
				int x = levelcx + levelcx * l.level + levelcx2 - org.x;
				w.DrawRect(x, yl, 1, yh - yl, SColorShadow);
			}
		}
	}
	Rect dri;
	for(int i = FindLine(org.y); i < line.GetCount(); i++) {
		Line& l = line[i];
		const Item& m = item[l.itemi];
		Size msz = m.GetSize();
		Size isz = m.image.GetSize();
		Size vsz = m.GetValueSize();
		int y = l.y - org.y;
		if(y > sz.cy)
			break;
		int x = 0;
		x = levelcx + l.level * levelcx - org.x;
		Point op = Point(x - levelcx2, y + msz.cy / 2);
		Rect r = RectC(x, y, vsz.cx + 2 * m.margin, msz.cy);
		if(l.itemi == dropitem) {
			dri = r;
			if(i == 0)
				dri.top++;
		}

Page 1 of 2 ---- Generated from U++ Forum

https://www.ultimatepp.org/forums/index.php?t=usrinfo&id=3
https://www.ultimatepp.org/forums/index.php?t=rview&th=2691&goto=11314#msg_11314
https://www.ultimatepp.org/forums/index.php?t=post&reply_to=11314
https://www.ultimatepp.org/forums/index.php


		if(w.IsPainting(0, y, sz.cx, msz.cy)) {
			w.DrawRect(op.x, op.y, levelcx2, 1, SColorShadow);
			if(m.canopen || m.child.GetCount()) {
				Image im = m.isopen ? CtrlImg::treeminus() : CtrlImg::treeplus();
				op -= im.GetSize() / 2;
				w.DrawImage(op.x, op.y, im);
			}
			w.DrawImage(x, y + (msz.cy - isz.cy) / 2, m.image);
			x += isz.cx;
			Color fg, bg;
			dword st;
			const Display *d = GetStyle(i, fg, bg, st);
			if(!(m.ctrl && m.ctrl->IsWantFocus())) {
				w.DrawRect(x, y, vsz.cx + 2 * m.margin, msz.cy, bg);
				Rect r = RectC(x + m.margin, y + (msz.cy - vsz.cy) / 2, vsz.cx, vsz.cy);
				w.Clip(r);
				d->Paint(w, r, m.value, fg, bg, st);
				w.End();
				if(i == cursor && !nocursor && multiselect && GetSelectCount() != 1 && HasFocus()
				   && !IsDragAndDropTarget())
					DrawFocus(w, r, st & Display::SELECT ? SColorPaper() : SColorText());
			}
		}
	}
	if(dropitem >= 0 && dropinsert)
		DrawHorzDrop(w, dri.left - 2, dropinsert < 0 ? dri.top : dri.bottom - 1,
		             sz.cx - dri.left + 2);
}

Mirek
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